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@ R : NM Physics-I (Mechanics, Properties of Matier, Waves & Optics

@ T8 : 233909
A : 8 4T I : bo
R 589y : oSt et (s TP e Tee firs =3 |
>-[opt
S G doft e Baa we- Sxdo=d

(¥) T TR WIS | [Define torque.|
Tan : Az 7 a1 W STwa ACHF TR @ TG TR AP (09 R I B
P& 0T (S/I QITHED OF 90 |
(¥) SIE-=ifE T <98 <9 | |State work-energy theorem.|
T : AifoRieT 369 $7F fFeo 0T 91 O Ia 389 Aroed ATTaowa 7 |
(%) S-EATRT I [What is geostationary satellite?]
Teq : (F IR CANCRA TSI 7[R W “Tod SSTPITe T | O - B¥ieiz <0 |
(9) < IS 7 [What is one poise?]
B&T - 1 cny's TP (@9 TS RS T QAR | dyne I RS 2, SR SAEE MHOTE 1
TS 0 |
(®) "jé‘ *{& IS 9017 [Define co-efficient of viscosity.|
TG : (AT OFFT B (FAR Jfa FACS T A0 (AT B VA TS &, T OFT 8
Rregfem s as Ot *fF |
(°) TSI FRLIF FRE WS | [What is surface energy?]
Ta : (@ 4ola Tt Oe o fowraw Koy W vqem st sifeq Repoa 14 I8 v
O OFE9 ArgG©l 961 |
(® WWW%@W | |State the principle of superposition of waves.|
T : 90 O TSI (FI TGN (T A6 FE TAT 4TS 207 4R FN0A AT AT

Ay, Sy, T G A EE, Y =y, + y5 A6 Saa SHAferew Aifed FSead |
(&) 721 &f¥S ™% 17 [What is simple harmonic motion?]
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T : AW (P A4S Ty T SR FFLART 27 R I QI AL (F G I
TNAAINSS 2, ST TR G2 603 373 Bfwe 07 |

() <ifSf3® FIt> =17 [What is image?]
Tad : (M G0 [ 200 e[ TR SIETd T @ G O WHAfeS 2| A
efswfers a1 aiferfae ez ot mam o @@ e faffte =@ 91wy e favg 2re fafre
R 0 WA =4 O T @ fador s e g effeqw e

(98) T CTCHT SRE[ WG | [Define equivalent lense.]
Teq : UF2 TFYS Y2 I SCOMET (Fr7d TTd (1 Tga (@ elf Sl 1o 0a, 772 «2 afsfm
G2 Y G AR ARCS G GFF @ 7o T @ G ETAE (T AIIER O T
T |

(B) IPROIS T S 17 [What is coherent source?]
©&7 : 75 T (AF B2 S (MCHT WIS O Gy 20T e e Ay fefe 2 az @
T #1<FT AT 5T U SR & BT RIS ST I |

(&) IISH IS ICA? |What is diffraction?)
T& : (S IR ARHCwa g1 A FHAIRT (A0 WA (&0 SR S S 371 = |

3-Rert
T ¢ oree Tew e 8X&=30
1
N AT A,V (;)=0_
s

[Prove that, V* (?) =0]
© | ST 0T L FG-*IE Toreimy et 3 |

[Prove work energy therem in the case of variable force.]
81 AN, 1=1 %

1
@ TS ), RPTR SPATSa MW —1 ST IS G2 + 5 ST (26 |
1

[Show that the value of Poission's ratio is greater than —1 and less than + E']
b | SR SR AR efeeAe a9 |

[Deduce an expression for progressive wave.]
Q| A8 (@, AegeT wfe Afew=rig e (b *ife an feercae quefa oo |
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[Show that the total energy of a particle of simple harmonic motion is proportional to the square of its
amplitude.]

v B ¢ HfobIRR T4y AT T |
[Distinguish between beat and interference. ]

® | OO @ 99 @ T ¥4 | [State and explain Brewster's law.]

-t
T ¢t e T s ¢ X Yo =¢o
o | (¥) s Toemy fage ¢ & 9 |
[State and prove Green's theorem. ]

(%) T 9 @, AT A, R =6y 1+ 2x°2 ) + xy?k (o3 AeReT |
J

[Prove that the vector, R= 6yz* T+2¢%2 T + xyzfc\ is solenoidal.]
N1 (F) TTOE ST IS U@ T SAAmIG Ko ¢ afedt ¥4 |

[State and establish the parallel axis theorem of moment of inertia. ]

(¥) @B A 40m O Gf6 o1 AT &S 3 RS 150kg A T A | A=t =rel w7

[A pump can raise 150 kg of water by 2 minutes from a vassel of 40 m depth. Determine the

power of the pump.]

21 (F) TE @ T JRET A (WS @I T8 IS @O aie T fAfa w9

[What is escape velocity? Deduce an expression of escape velocity for the earth surface. ]
(X) R b T ET 9T 450 N. T OF 6o FO7 U O ¢ TRIE TG 5T
T 8 JEICER 81 &6 4 w1 |

[The weight of a man on earth's surface is 450 N. Determine his weight on moon surface. The

mass and radius of earth is 81 and 4 times of the mass and radius of moon respectively.]

39| (F) A FIA, Y =2n (1 +o) | [Prove that, Y =2n (1 +5) ]

() G5 SR SRR CRa®T 0.0001m® ¥ 967 ST oiad ondy wifvr ey fewt 2o fordfer <o
(Y=2x10"Nm™).
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[The cross-sectional area of an wire is 0.00001 m”. Determine the magnitude of force required to
double its length. (Y =2 x 10"'Nm %) ]

81 (F) WW@,WW,T=%;}E’;(¥;+9 (T FRIF O 25T O T2 4 |

r

[Prove that the surface tension of fleud is, T =% per (h +§j; where the symbols have their usal meaning |

(%) 2 cm IFCER @& AR AR FEAEF 4cm T aqw ARerS F41 &= | A9E “AfE
BT 28 x 10~ Nm™' | F© e =t fefy w1

[The radius of a soap bubble is changed from 2 ¢m to 4 cm. Surface tension of soap bubble is 28
x 10 Nm™' | Find the quantity of work done.]

se | (F) IR Toioimy ﬁ@\? 8 A9 99 | [State and prove Bernouli's principle.]
(¥) i @uad AEEET afsAme o |
[Deduce an expression for terminal velocity.]
3 | (F) i sama ow@ o g e e g e 8 atfst 393
[Deduce the expression for antinode and node in the case of stationary wave.]
() G MG S AL, y = 0.8 sin 7 (0.02x — 2.00 1), 94T x 8 y cm TR t FLIS IS | (i)
fer; (i) F°I1%; (ii) G (iv) STng g =)
[The equation of a transverse wave is y = 0.8 sin 7 (0.02x — 2.000 t); here x and y incm and t in
sec. Find its : (i) amplitude (ii) frequency (iii) velocity and (iv) wavelength.]
3| (F) TRMFT NS T PO R 2 SHITR T M -1 9 |
[From Hygen's principle how the law of refraction of light can be deduced? Explain.]
(%) CoETeEe e aft Frewa v T qme

[What is spherical aberration? How it can be removed?]
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